
Sample Puzzle: 02-13-07 © 2007 P&A Magazine. http://www.pandamagazine.com Page 1 of 1 

� Stupid Cupid 

Our poor sap Arthur. Alone again for Valentine's Day, he decided to try to impress four women (including Lily) he knew from 
different areas of his life with a bouquet of flowers and a gift. Unfortunately, none of the gifts over well. At the end of the day, he 
looked at all of rejected flowers, and realized he was __________? Can you match up first and last names (including Miss Addams) 
along with the gift, how Arthur knows them, and the number of flowers given? 
 

First Name Last Name How Known? Gift Rhododendrons White Roses Daisies 

       

       

       

       

 

1. Each of the four women received at least one, but no more than 10, of each of three types of flowers Arthur selected. 

2. In honor of the Power Management course Arthur takes with Miss Charles, Arthur gave each woman a different power of 2 

rhododendrons. 

3. Arthur thought the teddy bear would impress Fern, a waitress at a local coffee shop. She thought it was rat however and knocked 

it and the 11 flowers she received total into the air. 

4. Arthur proudly knocked on the door of his next-door neighbor with an oversized novelty card, only to be disappointed when she 

(an environmentalist) chided him for wasting that much paper. 

5. The number of rhododendrons given is the average of the number of white roses and daisies added together. 

6. Violet Berkeley received as many rhododendrons as daisies. 

7. Davis received an even number of flowers. 

8. Two women each received 5 white roses. There are no other instances of two women receiving the same number of the same 

flower. 

9. Iris received twice as many rhododendrons as Fern received daisies, which was twice as many daises given to the woman Arthur 

knows from the gym, which was twice as many rhododendrons given to the woman who received a digital watch that gave her a 

skin rash. (All four women are mentioned in this clue.) 

10. A woman who received a box of chocolates that she was highly allergic to received two fewer flowers overall than the woman who 

received the digital watch.  

11. The woman in the Power Management class received two fewer daisies than the number of rhododendrons his next-door 

neighbor received. 


